Deep Learning Study

ByungChan Lee
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Train/Dev/Test Sets

Idea

= # of Layers P

# of Hidden units )
= Learning rates t L
Activation Functions Experiment Code

NLP(Natural Language Processing), Vision, Speech, Structured Data ..
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Train/Dev/Test Sets

= Training set: @11 E2|F &

= Developmentset: 02| 22 5 0| D 20| 7IY £2 d5= LIEIUH=X| 75 HAE
Sl A% (~Hold-out cross validation set)
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Train/Dev/Test Sets

data
Training dev

Size of sets
" Previous era (# of examples : 1,000 ~ 10,000)
* Train/Test =70:30 Train/Dev/Test =60:20: 20

= Big data era (# of examples > 1,000,000)
= Train/Dev/Test=98:1:1
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Train/Dev/Test Sets

Training set: Dev/test sets:
Cat pictures from Cat pictures from
webpages users using your app

Mismatched train/test distribution

= Make sure dev and test sets come from same distribution
Not having a test set might be okay. (Only dev set. )
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Bias/Variance
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= Assumptions : Human error (Bayes error) ~ 0% / dev & train sets come from the same distribution

high variance high bias high variance & bias good
Test Error 1% 15% 15% 0.5%
Dev Error 15% 16% 30% 1%
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Bias/Variance

Bias: How much predicted
value differ from true values

Error(z) = (E[f(z)] — JL@'))2

average true
predicted value

Low Variamwe High Variawe

()

Low Bias

High Bias

Variance: How predictions made on the
same value vary on different realizations
of the model
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= https://opentutorials.org/module/3653/22071
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https://opentutorials.org/module/3653/22071

Basic recipe for ML
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